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b% =c? +a? —2cacos60°=c’ +a’ —ca=(c—a)’ +ca

ca=b%*—(c—-a)’ =(b+c—a)b—c+a)

ZIZT, caliFEEThy, ZAFROKNSEFELYb+c—-a>0,b-c+a>0ThHDHND
i) c=b+c—a,a=b-c+a 1ii) c=b-c+a,a=b+c-a

iii) ca=b+c—-a l=b-c+a iv) ca=b-c+a l=b+c-a

DNTNNTH D,

i)yptx b-a=0b-c=0 ..a=b=c

ioLx
2c=b+a,2a=b+c H%x5|< L 2(c-a)=a-c c-a=0 ..a=c

L7=n»>7T 2a=b+a ..a=b .a=b=c

i) D&
WxFI< L ca-1l=2c-2a ca-2c+2a=1 (c+2)(@a-2)=-3
C+2>0,a-2=Z0Th D2 b, i,

ivyD L x
WxFI< L ca-l=-2c+2a ca+2c-2a=1 (c-2)(@a+2)=-3

c—2=0,a+2>0ThHrH00, i,

UEIZEY, asb=cL2dHVHER0E, =M ABCIZIE=MAETH L, REFK)



